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Abw—) wAvh Abw—) wAvh Abw-4 wAvh Abw-4 5 Avh

1| &R BT i X) 71 50 77 47 97 71 | 74.0 | 77

2 | BH | RErgRX) | 7T 42 76 49 91 76 76.5 | 77

30| NEE i (7 X 74 47 80 42 89 74 |77.0 | 80

4 | KEB —hHk () 78 37 73 50 87 73 |75.5 | 78

5 | AHJE FRGL i X) 75 45 81 40 85 75 178.0 | 81

6 | A (F X) 79 33 79 46 79 79 [79.0 | 79

TR wWE (W X) 73 50 83 29 79 73 |78.0 | 83

8 | B Rk (M X) 80 27 79 46 73 79 179.5 | 80

9 | B4 i (HRHLX) 79 33 81 40 73 79 [80.0 | 81

10 | BEFHZH (LX) 76 44 84 20 64 76 180.0 | 84
11| /MR FB (A X) 82 14 76 49 63 76 [79.0 | 82
12 | BEH W+t (6 X) 79 33 83 29 62 79 [81.0 | 83
13 | I Al (B X) 77 42 84 20 62 77 180.5 | 84
14 | B FW (&RX) 82 14 79 46 60 79 80.5 | 82
15 | A HPERER ) 82 14 79 46 60 79 80.5 | 82
16 | & | (W)X 80 27 83 29 56 80 |81.5 | 83
17 | FH H (75 X) 82 14 81 40 54 81 |81.5 | 82
18 | WA & (FHX) 81 20 82 33 03 81 |81.5 | 82
19 | JIPE FE | REra8X) | 79 33 84 20 53 79 |81.5 | 84
20 | A& AR (FHIX) 73 50 50 73 |73.0 | 73
21 | ®RJII BKR (e X) 73 50 50 73 |73.0 | 73
22 | K& 1% (e X) 80 27 84 20 47 80 [82.0 | 84
23 | & TS (5 LX) 74 47 90 0 47 74 182.0 | 90
24 | U kE— (FHEX) 76 44 90 0 44 76 [83.0 | 90
25 | EM PRIR (FHEX) 77 42 87 1 43 77 [82.0 | 87
26 | ARA Al (6 X) 77 42 87 1 43 77 [82.0 | 87
271 | &F M R X) 80 42 42 80 [80.0 | 80
28 | Bkt mR (hk %) 77 42 mowWL 42 77 |77.0 | 77
29 | FEL BN | (MR 84 0 81 40 40 81 |82.5 | 84
30 | Sk (LX) 86 0 81 40 40 81 |83.5 | 86
31 | FarEs e (B X) 81 40 40 81 |81.0 | 81
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32 | ZW | BREsAX) 81 40 40 81 |8L. 81
33 | MMk (WA ) 83 5 82 33 38 82 |82. 83
34 | HiFE BT (M ) 78 37 88 0 37 78 | 83. 88
35 | EfE (FHX) 78 37 91 0 37 78 | 84. 91
36 | mA B (7 X) 78 37 95 0 37 78 | 86. 95
37 | A (B 1) 92 0 82 33 33 82 |87. 92
38 | fmH e (M %) 82 33 33 82 |82. 82
39 | oK) KR G %) 79 | 33 88 0 33 79 |83. 88
40 | MR L (FEX) 79 33 33 79 | 79. 79
41 | R RS (B 1) 80 27 86 3 30 80 |83. 86
42 | ek W= (M %) 84 0 83 29 29 83 |83. 84
43 | IHHE A e X 86 0 83 29 29 83 | 84. 86
4 | B EE (i %) 86 0 83 | 29 29 83 | 84. 86
45 | A FIE (LX) 87 0 83 29 29 83 |85. 87
46 | KEFE 3 (FEIX) 88 0 83 | 29 29 83 |85. 88
47T | FIHD XK (B 1X) 83 29 29 83 |83. 83
48 | TR W e X 80 27 90 0 27 80 |85. 90
49 | FIR Az (hk ) 80 27 27 80 |80. 80
50 | A% FIR (FHX) 80 27 27 80 |80. 80
51 | B JEE G X 83 5 84 20 25 83 |83. 84
52 | i & (#BHLX) 83 5 84 20 25 83 |83. 84
53 | @i IET (HHEX) 83 5 84 | 20 25 83 |83. 84
54 | ZE fh— (P X) 82 14 85 9 23 82 |83. 85
55 | EE THAE e X) 81 20 87 1 21 81 |84. 87
56 | TjE Kk (LX) 85 0 84 | 20 20 84 | 84. 85
57 | R () 85 0 84 20 20 84 |84. 85
58 | fak R (FHEX) 87 0 84 20 20 84 |85. 87
59 | k@il BEhE (HBHLIX) 92 0 84 | 20 20 84 |88. 92
60 | K¥H &l (M ) 81 20 88 0 20 81 |84. 88
61 | HFHE B (F X) 81 20 20 81 |8l. 81
62 | snk B (F X) 81 20 20 81 |81. 81
63 | #hpm 5L (#EBHX) 81 20 20 81 |8l. 81
64 | Pk =N | (RLsBK) |82 14 86 3 17 82 |84. 86
65 | 4 B (F ) 83 5 85 9 14 83 |84. 85
66 | MEA Stk (&RX) 82 14 88 0 14 82 |85. 88
67 | G (M X) 82 14 90 0 14 82 |86. 90
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68 | &1 R (M X) 82 14 91 0 14 82 |86.5 | 91
69 | MR M (e %) 84 0 85 9 9 84 |84.5 | 85
70 | B - (B 7-1X) 89 0 85 9 9 85 |87.0 | 89
1B = (F X 90 0 85 9 9 85 |87.5 | 90
20 N | GEREIX) 85 9 9 85 |85.0 | 85
73| KRR R (FHEX) 83 5 93 0 5 83 [88.0 | 93
74 | e KFEZ (8 5. 1X) 83 5 FHIR S 5 83 |83.0 | 83
75 | Kbk EFE | fRbrsx) | 83 5 5 83 [83.0 | 83
76 | 4FblE | (FRIITX) 86 0 87 1 1 86 |86.5 | 87
T B FX (F X) 87 0 87 1 1 87 |87.0 | 87
78 | il RiE (B RL1X) 89 0 87 1 1 87 [88.0 | 89
9 | A% BA (A=RIX) 87 1 1 87 |87.0 | 87
80 | A0 it (Fk X) 84 0 88 0 0 84 |86.0 | 88
81 | I Hpk R X) 86 0 88 0 0 86 |87.0 | 88
82 | /MR FRA (H X) 86 0 88 0 0 86 |87.0 | 88
83 | kH Sl CEY) 87 0 89 0 0 87 [88.0 | 89
84 | Fhfkx HmHE | Rt AIX) | 88 0 89 0 0 88 [88.5 | 89
85 | B g (B 1) 90 0 89 0 0 89 |89.5 | 90
86 | A Fnfd U X) 94 0 89 0 0 89 |91.5 | 94
87 | HAFHI—ER (A X) 99 0 89 0 0 89 194.0 | 99
88 | WpEiE M = X) 89 0 0 89 189.0 | 89
89 | AR A (&RX) 89 0 0 89 189.0 | 89
90 | hAEHEHIA (FHEX) 89 0 90 0 0 89 [89.5 | 90
91 | /NE JRZ (B %) 89 0 90 0 0 89 [89.5 | 90
92 | AH A (=RIX) 90 0 90 0 0 90 190.0 | 90
93 | Hih BHE— (FEIX) 98 0 90 0 0 90 |94.0 | 98
94 | B0 ¥ (#BHX) e 90 0 0 90 190.0 | 90
95 | gAARE—ER | (RL,BX) | 94 0 91 0 0 91 |92.5 | 94
96 | I L R X) 84 0 92 0 0 84 |88.0 | 92
97 | HH R (B RL1X) 94 0 95 0 0 94 194.5 | 95
98 | WA A | (REs B 97 0 0 97 197.0 | 97
99 | mF & (B 1) 88 0 100 0 0 88 94.0 | 100
100 | HAT  FnBAd (&R X) 84 0 EEe 0 84 |84.0 | 84
101 | fBE R | GEEIIK) E=e; 0 1000 | - 0
102 | A F— (A X) 85 0 E e 0 85 |85.0 | 85
103 | K2l JBEE (8 5L 1X) 86 0 FHIR Y 0 86 |86.0 | 86
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104 | BARE—RR (FLEX) 87 0 FHIR S 0 87 |87.0 | 87
105 | =4 ¥+ (k) HHTR Y iV 0 1000 | - 0
106 | 41 EA o X) FHIR S 0 1000 | - 0
107 | 1 @A (HFBHLIX) 85 0 0 85 |85.0 | 85
108 | g PrRil o X) 85 0 0 85 [85.0 | 85
109 | ARlgr  F5 i (FBHLIX) 86 0 0 86 [86.0 | 86
110 | #RE ok (FHEX) 87 0 0 87 |87.0 | 87
111 | /il E— (FFHEX) 87 0 0 87 |87.0 | 87
12 | Jiwe &5 (FLEX) 87 0 0 87 |87.0 | 87
113 | &) * (#HLX) 88 0 0 88 |88.0 | 88
114 | ik —¢ (= X) 88 0 0 88 |88.0 | 88
115 | . BFIE (FEIX) 89 0 0 89 |89.0 | 89
116 | ArH = (e 1X) 90 0 0 90 190.0 | 90
117 | B v &H (#BHLX) 98 0 0 98 |98.0 | 98
118 | wE# = = X) 107 0 0 107 |107.0 | 107
119 | fidde iz (B 1) FHI R Y 0 1000 | - 0
120 | FEHP [EA = X) HEHTR Y 0 1000 | - 0
121 | JkH Do (FHEX) HHTR S 0 1000 | - 0
122 | b K (FHX) HHTR Y 0 1000 | - 0
123 | AR ¥ (WA ) FHI R Y 0 1000 | - 0

4/4R—




